N = 0l & At & Ml A

AR SPLC A SA ST A D
Ha: SYW YNFIIF AY FX
SRl WARIT AY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
ST Al &Y E 55,529,150 17,472,229 38,056,921
Xl 990,000
Jl 10,767,000
= 5,436,300
Al 4,135,850
TH 34,200,000
& Al XH A8 f 44 416,750 11,994,295 32,422,455
Xl 990,000
J| 10,767,000
o= 5,436,300
Al 3,023,450
TH 24,200,000
s gAHEIE HE =& 14,904,600 10,572,470 4,332,130
Al 4,600
XH 14,900,000
SlAAHD A HE 14,904,600 10,572,470 4,332,130
Al 4,600
TH 14,900,000
BIAAD|Z AHE(BSH) MY 1,000 1,000 0
201 et 1,000 1,000 0
01 AP 2t 2] d| 1,000 1,000 0
OogMNEIIHE HE 82 H&
50,000 * 4& x 53] 1,000
SIAHEDE HE 2H A 3,600 4,800 A 1,200
202 04| 3,600 4,800 A 1,200
01 2L I 3,600 4,800 A 1,200
OYNAIIT AY =H(22)
20,000& x 3¥ = 603/ 3,600
ALEAAOEY HIIE AHE 8,575,000 0 8,575,000
H 8,575,000
308 XHXIEHSOIA 8,575,000 0 8,575,000
H 8,575,000
07 NXSHH2ESSZ2 8,575,000 0 8,575,000
OALEAAOEHZEBIZ AL EL43('14~"154
legs ZLsh) 8,575,000,000& = 14! 8,575,000
TH 8,575,000
IAHA/AEEZ HIE AHE 4,378,000 6,766,667 N2,388,667
H 4,378,000
308 AHXIEHSOIA 4,378,000 6,766,667 N2,388,667
TH 4,378,000
07 NXSHH2EESS 2 4,378,000 6,766,667 N2,388,667
QIIH/AEE=™ HIH HYE 292
4,378,000,000& * 14! 4,378,000
H 4,378,000




M ox
40 5 4

=2

=0

ST YARIIY AY =T
YAHINF AY

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OtolAotal Il HI1&E A& 1,624,000 3,033,333 A 1,409,333
T 1,624,000
308 AHAIEHHSOIA 1,624,000 3,033,333 A 1,409,333
T 1,624,000
07 IXNHMAR S = 1,624,000 3,033,333 A 1,409,333
OotolAsta 1l & HE RE=
1,624,000,000& * 14 1,624,000
T 1,624,000
Z2e ZI|E A4 323,000 766,670 AN 443,670
T 323,000
308 MtXIEHMSOIH 323,000 766,670 A 443,670
T 323,000
07 IXNHMARE = 323,000 766,670 A 443,670
Oozdg 3Ny 2L Rg=
323,000,000& * 14 323,000
T 323,000
I a2 A &= 28,002,210 1,001,200 27,001,010
J| 10,767,000
< 5,309,300
Al 2,625,910
T 9,300,000
CHal A AE At 10,895,050 928,840 9,966,210
J| 2,247,000
< 2,753,000
Al 1,895,050
T 4,000,000
a2 Ald &3 3,000 3,000 0
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
Oz 2EANd E2=2 HNA
100,000& * 6& 53l 3,000
CHa| 2SEAIZALE 2934l 15,800 6,840 8,960
202 044l 9,800 3,840 5,960
01 = LH &4 1l 9,800 3,840 5,960
OUsI A LAY FE(EQ)
20,000& = 7 = 703/ 9,800
203 YR =&t 6,000 3,000 3,000
03 A F=XH S =AY 6,000 3,000 3,000
OUSIZEAIE ABHISFX(SE)
6,000,000& =+ 14l 6,000
SETM3a dYE2 W4 468,250 407,000 61,250
Al 68,250
T 400,000
308 XX EHHSOIA 468,250 407,000 61,250




o= ST A FHIE SAN S AITHA
MM 2D IBUAL 25
Sol: B RBAIL AP SeE)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Al 68,250
H 400,000
07 IXNSHHARE = 468,250 61,250
SYLN3 WUER N 23
468,250,000 14l 468,250
Al 68,250
H 400,000
d=ZE-JIE JYE=2 K4 943,000 943,000
H 943,000
308 XX EHSOIA 943,000 943,000
T 943,000
07 XX SGM2ARES 943,000 943,000
OU+=-201% NYTENHE 222
943,000,000& * 14 943,000
TH 943,000
ZEAFU-SEHUUNZ &2 M 1,093,000 1,093,000
T 1,093,000
308 X EHSOIA 1,093,000 1,093,000
T 1,093,000
07 AXSM2ARES 1,093,000 1,093,000
OYSHAEY-ZHRAZ NYT2HE 22
1,093,000,000& * 14 1,093,000
T 1,093,000
S9-2I|IE¥ JIE=2 e 1,564,000 1,564,000
T 1,564,000
308 MtXIEHMSOIH 1,564,000 1,564,000
T 1,564,000
07 AXSM2ARE S 1,564,000 1,564,000
OES%-2IIT NYTENHE 22
1,564,000,000& * 14 1,564,000
T 1,564,000
9 - ZJ& Y2 Mt A4 5,000,000 5,000,000
J| 2,247,000
< 2,753,000
403 A X EHHS 20l A 5,000,000 5,000,000
J| 2,247,000
< 2,753,000
02 SI| 2SOl CHEt At 2 X CH & AF & I 5,000,000 5,000,000
OZE9-ZJI& Y2 few A
5,000,000,000& * 14 5,000,000
J| 2,247,000
< 2,753,000
dEtE 0l =8 At Y 1,808,000 1,803,000
201 Let24d] 8,000 3,000
01 At 22l 8,000 3,000




A2 SYLCAFY S SA AT
MM 2D IBUAL 25
SR HIZHEAE ALY (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Ost=0t2 222 M 8,000,000 = 14l 8,000
308 XXM SOIA 1,800,000 0 1,800,000
10 I 2SOl CHetZ & = 0 & A& I 1,800,000 0 1,800,000
ORBD AtE 2 E A RE=
1,800,000,000& * 14 1,800,000
28T EF FIAMNY 17,107,160 72,360 17,034,800
J| 8,520,000
< 2,556,300
Al 730,860
H 5,300,000
SYHIEF HLAY 3,600 5,000 A 1,400
201 L4l 3,600 5,000 A 1,400
01 At 22l 3,600 5,000 A 1,400
Os+s22 W& 3,600,000& = 14! 3,600
SELEF FUAY 224 5,960 3,360 2,600
202 044l 5,960 3,360 2,600
01 SLHOIYI 5,960 3,360 2,600
OSRHEAMS =& 20,0003 » 2 * 1493 5,960
dSe=2HEHN =4 At 1,062,000 0 1,062,000
J| 531,000
< 159,300
Al 371,700
201 Let249] 5,000 0 5,000
J| 2,500
< 750
Al 1,750
01 At 22/l 5,000 0 5,000
OHEHS2 A=Y (Z2L3)
5,000,000& = 14 5,000
J| 2,500
< 750
Al 1,750
401 AIEHI L 20HEI 1,057,000 0 1,057,000
J| 528,500
< 158,550
Al 369,950
01 A& HI 1,057,000 0 1,057,000
Odset=s MEeX gAY
1,057,000,000& * 14l 1,057,000
J| 528,500
< 158,550
Al 369,950
ZE HASSA 2F 43 MY 776,000 64,000 712,000
J| 388,000
< 117,000




A S EHI T AEHS SA S ATHA D
Hu: 2T HIABEANL 2B
o9l SYUY ST FIAY CERED
AR .SN Y. (3H) - NBAY - BES Ol &F o4 ﬁlf& HD=2
Al 271,000
401 AlEHIZL £ 0HY| 776,000 64,000 712,000
J| 388,000
= 117,000
Al 271,000
01 Al&H| 766,000 60,000 706,000
OEAMSADIS T Al &HI
766,000,000 * 14! 766,000
J| 383,000
& 115,500
Al 267,500
03 A& 2 0HH| 10,000 4,000 6,000
OSASAIOIE T A EHl 10,000,000& = 14 10,000
Jl 5,000
= 1,500
Al 3,500
ST OlEME HE 15,202,000 0 15,202,000
J| 7,601,000
o= 2,280,000
Al 21,000
TH 5,300,000
401 Al HI L E0HHI 15,202,000 0 15,202,000
J| 7,601,000
o= 2,280,000
Al 21,000
TH 5,300,000
01 Al&H| 14,264,000 0 14,264,000
OSEIEOIEMEYH HE
14,264,000,000& = 14 14,264,000
Dl 7,132,000
= 2,139,300
Al 2,700
TH 4,990,000
02 22l 850,000 0 850,000
OS8IOtEMEH AHE 22|l
850,000,000& * 14 850,000
J| 425,000
= 127,500
Al 7,500
H 290,000
03 Al 201 Y| 88,000 0 88,000
OS2 LOtENEH A8 AMES0I
88,000,000& * 14 88,000
J| 44,000
= 13,200
Al 10,800
H 20,000
SEILOIEAMEH 28 24 &H| 57,600 0 57,600




A= SEIUZAFZHIE M S AT D
Hu: 2T HIABEANL 2B
o9l 2RI S FIAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
201 ¢er24| 57,600 0 57,600
01 At 22l 57,600 0 57,600
OEEI=EOI2LH) =L H
300,000& = 16 = 82l 38,400
OB+ (AANEH) =L H
300,000& = 16Y = 43| 19,200
SANY 245 2 X 1,478,310 398,350 1,079,960
X 990,000
< 127,000
Al 361,310
AKH A8 XT3 AHS 1,478,310 398,350 1,079,960
Xl 990,000
< 127,000
Al 361,310
SANTHY A ALY 60,150 44,750 15,400
201 Let24dy] 8,150 7,750 400
01 At 2teltl 8,150 7,750 400
OZATHMSI RS 5o &asg
70,000% = 15 = 33 3,150
Od=z230n= 2,500,000 * 14 2,500
OEANHY 222 MZH 2,500,000 = 14l 2,500
203 YR =2t 2,000 2,000 0
03 Al =AY R =4 2,000 2,000 0
OZATHA 2= 2,000,000& = 14 2,000
308 MtXIEHMSOIH 50,000 0 50,000
10 B 2SotHeBa XA 50,000 0 50,000
OZAITHAOIILAI0l 2% 50,000,000& = 14 50,000
SAIHA XHAY 222 4,160 3,600 560
202 Od4dl 4,160 3,600 560
01 = LH o4 4l 4,160 3,600 560
OZAHY AIZ=E(E2)
20,0003 = 4% = 523 4,160
T2 SUXNF? ME0E ZEMY(HSNL 480 1,414,000 0 1,414,000
A HZAY)
Xl 990,000
< 127,000
Al 297,000
201 et 13,200 0 13,200
< 3,960
Al 9,240
01 At 22l 13,200 0 13,200
OSZIACUOIH MEEESH
350,000& = 23] = 12& 8,400
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M CAMY 285 L XD
SR SATHY XA (&)
o 4 14
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
== 2,520
Al 5,880
ESZIACUOIH &g
100,000& = 43| = 128 4,800
< 1,440
Al 3,360
307 glz2tol & 92,000 0 92,000
X 30,800
< 18,360
Al 42,840
02 LIt HAMHEE 92,000 0 92,000
OAt2l BHMA Z A 30,000,000& = 14 30,000
Xl 21,000
= 2,700
Al 6,300
OFgaz2ds us 14,000,000& * 14 14,000
Xl 9,800
< 1,260
Al 2,940
Oont2gsIt & 2,000,000 » 2% 128 48,000
= 14,400
Al 33,600
401 AIEHI L 2 CHYI 1,308,800 0 1,308,800
Xl 959,200
< 104,680
Al 244,920
01 A& HI 1,298,800 0 1,298,800
OFZXSUIT ME0tE2 L3 A
1,298,800,000& * 14 1,298,800
Xl 952,200
< 103,780
Al 242,820
03 Al 2 THHI 10,000 0 10,000
OFZAUSUXNT MSOS Zd3AL AIERT
=l 10,000,000 14 10,000
Xl 7,000
< 900
Al 2,100
HE2AZHI (S AITHAD) 31,630 22,275 9,355
Jl=Z i 31,630 22,275 9,355
Jl= &l 31,630 22,275 9,355
201 Let24E] 15,250 13,750 1,500
01 At 22l 15,250 13,750 1,500
Oget=&H| 9,180
cHF AR ESHI 200,000& = 53| 1,000
cHFEH AR2F P 400,000& * 123 4,800
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A & 0l & AF 2 E A A
A= SEIUZAFZHIE fAM  ZAFEI
MY SHSYY TAHY Z
&S TAE3EY JIBtxEd CEERED)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SAEH D 477,580 157,504 320,076
SH2E" T AeE 461,460 143,900 317,560
SAEZEH Jlgtx 4y 10,200 12,700 A 2,500
SZEHIAY =& Z | 10,200 12,700 A 2,500
201 Let24E] 4,200 4,200 0
01 At 22l 4,200 4,200 0
O AMEH E2HHH ¥ &9 XN
60,000 * 204 1,200
O N3 ZH 79 o&s M
3,000,000 * 14l 3,000
202 044l 4,500 6,000 A 1,500
01 = LH o4 1l 4,500 6,000 A 1,500
Otdddl =& ol 20,0003 = 5% = 452 4,500
203 ¥ =&l 1,500 2,500 A 1,000
03 A=A H 2 =AH| 1,500 2,500 A 1,000
OstZEHHIAIHFA 1,500,000 * 14 1,500
SAZEE =& 451,260 131,200 320,060
SELAE = SFFH 351,260 131,200 220,060
202 Odl 1,260 1,200 60
01 = LH 4 Hi 1,260 1,200 60
OZAIEZEHl At =&
20,0008 = 3% = 212/ 1,260
401 AIEHI L 20 350,000 130,000 220,000
01 A& HI 347,000 128,000 219,000
OSYTAL =8 2B I
347,000,000& * 14 347,000
03 Al 2 THHI 3,000 2,000 1,000
OSYTAL =8 2B I
3,000,000& = 14 3,000
SSAE S3EFH ALY 100,000 0 100,000
401 AIEHI L 20 100,000 0 100,000
01 A& Bl 100,000 0 100,000
OZ3AE &3 FHl 100,000,000& * 14 100,000
HE2LZH (S AIEH D) 16,120 13,604 2,516
Jl=&l 16,120 13,604 2,516
Jl234 16,120 13,604 2,516
201 et 8,800 8,344 456
01 At 2teltl 8,800 8,344 456
OHFANRES ¥ 100,000& * 123 1,200
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A & 0l & AF 2 E A A
A2 SYLCAFY S SN HESHY D
Ha: HSEH ZBIY
S9l XYB FHIALY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
=Rk linly 10,634,820 5,320,430 5,314,390
Al 634,820
T 10,000,000
EEFH FJ2EY| 10,617,500 5,308,000 5,309,500
Al 617,500
T 10,000,000
N F 2 HHAY 10,515,500 5,308,000 5,207,500
Al 515,500
T 10,000,000
2CEE3 €7 10,000,000 5,000,000 5,000,000
T 10,000,000
308 XXIEHH SOl A 10,000,000 5,000,000 5,000,000
T 10,000,000
10 SII 2 SOCHetZ & = 0 & A& I 10,000,000 0 10,000, 000
OYS-2AF SHHE ToT2 BB
10,000,000,000& * 14| 10,000,000
T 10,000,000
EERFRNEEANY MEX EHI 201,500 0 201,500
203 YR =&l 1,500 0 1,500
03 A BFXH S =AY 1,500 0 1,500
OESRESNZEAY AMET
1,500,000 = 14l 1,500
401 Al HIZ 201 8] 200,000 0 200,000
01 A& HI 197,000 0 197,000
OEER=RXN2EAMNY MEX F
197,000,000& * 14! 197,000
03 Al S THHI 3,000 0 3,000
OECRERXN&SAYE HEX EH
3,000,000 * 14l 3,000
oA ofE At 314,000 0 314,000
201 L4l 14,000 0 14,000
01 At 2t 2l 4,000 0 4,000
OHE XY FALHF =
200,000& * 203l 4,000
03 A2 I 10,000 0 10,000
OZ4X EERSEX 243 HA
10,000,000 * 14! 10,000
401 Al HIZ 201 I 300,000 0 300,000
01 A& HI 297,000 0 297,000
OB AXNG GHZ ALY
297,000,000& * 14 297,000
03 A& S THHI 3,000 0 3,000
OEE UAAXA HB A 3,000,000 * 14! 3,000
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